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Examinee is directed to réad carefully the fallowing
instructions : :

feref] <A el RS 1 oo & vt B RA AR R s g«

. Examinee must write his/her Roll Number in the

specified box on the top leit hand corner of this page.
Answers are required to be marked only on the
Computerised O.M.R. Answer sheat which s being
provided to the examinee,

- Besides filling in the Roll Number, the examinge has

to pul his/her signature on the Answer-Sheet and also
fill other required details like Name, Roll Number,
Question Booklet code, etc. as indicated on the OMR
Answer Shest, If these details are not filled in by the
examinge, his/her Answer Sheet will not be evaluated.

. For each question, there are four alternative answers,

out of which only one is corract. Examinee must darken
the circle of correct option in the Ahswer Sheet by

. Black Ball Pen only.
. There are 24 (20+4) pages in this Question-Bookiet

Including 1 page for General Instructions and four
blank pages for Rough Work in the last. In case an
examinee receives an incomplete or defective
Question Booklet, he/she should make a requast o
the Room Invigilator 10" change the same within 10
minutes of start of the exam.

. This Question Booklet containg 50 questions from

following subject :

(1) Biology Q. Nos. 1-50

. Each question carries 1 mark and % mark will be

deducted for each wrong answer,

. Possession and use of electronic devices such as

Calculator, Cellular Phone, Digital Diary, Log Table,
Pager, efc., are restricted during the examination.

. Any leaf from the Question Booklet should not be

detached. After the Examination, Question-Booklet
and Answer-Sheet must be handed over to the Room
Invigilator.

. During examination the examinee will not be allowed

lo leave the examination hall till the END of the
Examination.
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1.

One of the agricultural practices of
breeding and raising livestock is
called

A) Veterinary science
B). Dairy/farm management
C) Gross'breeding

B) Animal husbandry

2. Mule Is a cross breed obtained by

3.

crossing
A) male horse and female zebra
B) male donkey and female zebra

C) male horse and female donkey

D) male donkey and female horse

Identify two rice varieties used to
develop semi dwarf variety of rice

A) IR-8 and Taichung native-1
B) Sonalika and Kalyan Sona
C) Jaya and Ratna

D) Kalyan Sona and Jaya

1. oY Hereht ax[eTt o1 FoH S QTSoT Sk

1 FEd ¢

A) et fagm
B) TSITeN HeEe
C) 91 Yo

D) sfor iy

2. TeeR U G ¥ YT &, SO T g e &

A) =S A ATET S5
B) e 3R HreT s

.G srer sttt

D) e 37 el

3. B F WEl ) Sl o8 o34 1 IE"e

IR

A) IR-8 31t 3 Afea-1

B) @TietenT 3R sheamor G
C)amaﬂtwﬁ

D) Feam G 3T s
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4. Which one of the statements regarding
asexual reproduction is false ?

A) Offsprings are similar to their
parents

B) Reduction division takes place
during asexual reproduction

C) Ofispring.do not show variation
D) Zygote formation does not take

place

5. Match the Column | with Column Il and
select the correct option from the choice
below :

<

Column | Columnll
a. Polyembryony i. Commelina
b. Dioecious ii. Grass
c. Cleistogamous jii. Date paim
d. Apomixis iv. Citrus

a b ¢ d
A) (iv) (i) () (i)
B) (iv) (iii) (i) (i)
C) (i) () (@v) (i)
D) Gi)) (iv) @) (i)

T E D

4. T U I G SR SR o % fem g
e ?

A) el Trar- e S S

B) Wil YoMA & N YorE Rrwrer

BT 8
C) wafd ® &8 %eh e e
D) T A S B
5. T | 7T 1| 3 HaoH U 5T WEt e g
w9 wall
a. Ui i. AT
b. SftEE ii. o

c. FARErmHd iii. &R
d. sffsaa iv. Rem

a b ¢ d
A (V) (i) () ()
B). (v) (i) i) ()

S C) (i) @ (v i)

D) (i) (v) @) (i)

e
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6. Zoospore is a 6. =e SHET (FRIR) T
A} haploid non flagellated spores A) ;qgfﬁ]aaﬁmmasﬁarg
B) haploid flagellated male gametes B) ST e R THE
C) haploid female gamete C) s AT HH
D) haploid flagellated spore D) arfir s Sha]
'7. The list of agents of pollination and the 7 w%gﬁrﬁfﬁwmaﬁ‘@hmﬁ
technical words used to describe the it ved & T & 2 s:lﬁ 3w

pollination are given below. ldentify the

A) ARl YIEE T

correct pair.

A) Malacophilly Pollination by snails
B) w@mifhet W&l g

C) fieifhelt =g qE

B) Entomophilly Pollination by birds

C) Ornithophilly Poliination by winds
D) wimifeeft  wIRT W™

D) Anemophilly Pollination by animals

8. 7 § wF W g G @ 7

8. Which of the statements is correct ?

A) cleistogamous flowers always A) SRS W T W
exhibits autogamy : id '
B) bhasmogamous flowers always B) Sfie oot et AR = R
exhibit geitonogamy C) weErTHE Fel waT Wi T
C) cleistogamous flowers exhibit both e = <wia g
autogamy and geitonogamy D) 3w wueret et oft il =
D) chasmogamous flowers never TeT <91l

exhibit autogamy _
2 (Page No. 5 } 5CEB




8. Oneofthe ex situ construction methods
for endangered species is

A) Wild life sanctuaries
B) Biosphere reserves
C) Cryopreservation

D) National park

10. IUCN stands for

A) International Union for Nature and
Natural Resources

B) International Union for
Conservation of Nature and
Natural Resources

C) International Union for
Conservation of Natural
Resources

D) International Union for
Conservation of Nature

11. rDNA is broduced by joining
A) one mRNA with a DNA segment
B) one mRNA with plasmid DNA
C) two RNA molecules
D) one mRNA with a polypeptide

NN B

9. eI SR & T ex sity Fafor vzfy 2
A) T s
B) 4 Hew e
C) sfierivm
D) o< sum

10. IUCN 7 warers &

A)s’mfmgﬂmmﬁﬁmmmw
g

B) SR FiA B S 31m
HE =Ter Fevda

C) $eHIw qfr wR Foidem s
T @

D) STERAA I SR ST %
I

1. 7= e & (DNA seRa s d 7
A) TF mRNA % H19 T DNA iz
B) TF mRNA & T wnfare DNA
C) = ANA TiorRes

D) @mHNA%m@W?E@

5CEB
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Plasmid is a
A) extra chromosomal, self replicating,
double stranded, linear DNA of
bacteria
B) chromosomal, self replicating
double stranded, circular DNA of
bacteria
C) 'extra nuclear, self replicating,
double stranded, circular DNA of
bacteria :
- D) nuclear, self replicating, double
stranded, circular DNA of bacteria

Find out correct statement about Bt toxin
A) Bttoxin exists as an active compound
in the Bacillus®
B) Bttoxinis produced by cotton plant
to Kill pest

C) The activated toxin enters into
ovaries of the pest and the pest
killed

D} The inactivated prototoxin gets
converted into active form in the
insect.gut and Kills the irfsect

Elution means
A) cutting and extraction of DNA
b&‘nd_s from:the agarose gel
B) separation of DNA fragments on
agarose gel

C) making the DNA fragments visible
when exposed to UV light

D) isolating a desired gene from DNA
. of an organism

12. =R o
A) 3Tfte sEeIEd, W R, T
wWiss, I #1 aw DNA
B) sMSE, WE (R, AL,
HTFIRET S MR DNA
C) aftrr =T, @ WeerRfen, g
TS, SAEAET F1 Mot DNA

D) ~fRmr, W efen, g wids,
st 1 MiemmR DNA

13. Bt eiiFe & fa=m # wdl o )
~ A) Bt Zifaem framfia 9 & wa 8

Fed war

B) Bt Zifm %9 % i gra Fef =t
A % 1T Ieifea fram s @

C) iz = 3ieHM ¥ fshamyiter 2R yaw
T ® 2R iz A S @

D) fmmfe s frmie e
F ¥ 7§ 95t I F A § W
AT 8

14, e %1 Ao 8

A) 3TTRIE 9F & DNA S7€ 1 1eT et
el e

B) MR 9@ % FH DNA % g&Het &l

C) UV feoti & DNA & g8 S3FT TR
3T R

D) ¥ =1 DNA 10 U aifea S #
AT HEA

gy
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15.

16.

17.

18.

One of the following supports declining
phase of a population

A) Mortality > natality

B) Natality > mortality

C) Mortality = natality

D) Natality-— mortality =0

Capacity of a plant cell to give rise to
whole plant body is known as

A) Reproduction
B) Budding
C) Totipotency

D) Regeneration

A population has more than 50% iﬁ post
reproductive age group; according to
you such population is

A) stable

B) declining

C) increasing

D) showing biotic potential

ADA deficiency 6an be permanently
cured by

A) Bone marrow transplantation
during infancy '

B) Enzyme replacement therapy at
the age of five

C) The infusion of genetically
engineered lymphocytes

D) The introduction of the ADA-
producing gene into the

R A

15. Ferfifiga § 3w Tt & froae it staeen
w1 A FET R |
A) YIR > SIFHST
B) ST > oI
C) IR = 1L
D) S - gl =0
16. TE F1 H gmed I TP DY A T @
o undf & 59 Fed B
A) S
B) w=ifea
C) Sifedre=t
' D) e
17. T 3TTE1 % 50% Wiowma & <76y Yo &
a1g fit FET & B; INTH AR T FFR
F T R
A) fer
B) genaTe!
C)- et
D) Siferes &mar i @R

18. ADA I =[aT i 39 W ¥I¥ad ¥4 &
3 P s EFa R |
A) TEE H A5 % TR F FR

B) U= Ure i 39 # GeH iowama=
Tarfsrean g

C) agafirs 9 & gefifa fevwreme

<hl AT

D) ADA- Juted S Y yur °1

embryonic stem cells [

Page No. 8 J
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TR
. Restriction endonuclease breaks bond
between tht_a

A) Base pairs of DNA molecule

B) Sugar-phosphate backbone of
nucleic. acid

C) Exons and introns in cistron
D) N-glycosidic bond between sugar
and base
. Select the wrong statement.

'A) Our present day crop plants are
entirely different from their wild
ancestors

B) Almost all our present day crops
are the result of selections carried
out by the prehistoric human beings

C) Seeds and plant,samples of only
genetically superior and cultivated
species are introduced from one
country to another

D) Genetic diversity;of our crop plants
must be conserved
. The restriction site_recognized by
enzyme EcoRl is
A) CCGGGC
B) CTGCAC
C) GAATTC
D) AAGCTT

19. YReg TG ¥ o9 5
dsa e |

A) DNA 377 % 3THR SIS

B) =i ufis # =fi-wike fig #it
&

C) ferdm & wwEH ot §gH
D) = T 98 ¥ - qu

20. T8 ¥ T H9H AT |

A) TR FduF AT % wEw % WY IH
it VeIt & iR e @

B) v gt TR Fawe fet % wew
iitfaeTfers TSt g i T = w
wfem &

©) S Sy w3 s s 2 A

TR T 3 o o 1Y ¥
T TE 90 & qE < o yRfea sy
A

D) guR ®ae el it angaties frfrem
! wida fomm s =i

21. WA EcoRl T Y8=THT TR Yfcey T1Ee &

[ Page No. 9
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A) CCGGGC
B) CTGCAC
C) GAATTC

D) AAGCTT |
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22. Which one of the following is not

23.

- 24,

25.

correctly matched ?
A) Dengue
B) Malaria

C) Amoebiasis Houseflies

Aedes mosquito
Female Anopheles

D) Ringworm  Droplets

Which of the following enzymes is not
produced by E.coli during lactose
catabolism ?

A) p-galactosidase

B) Galactoside transacetylase

C) Carbonic anhydrase

D) Lactose permease
According to HGP, the, longest gene
consists of

A). 3, 164, 7 million base pairs

B) 3000 base pairs

C) 2968 base pairs

D) 2.4 million base pairs
In Mung bean, resistance to yellow

mosaic virus and powdery mildew were
induced and developed by

A) Mutation breeding
B) Hybridization
C) Polyploidy breeding

D) Recombinant DNA technology
method

22, 8 & Form gaow v iR 7 i
A) ¥

23. = o ¥ % wr doEw = Ew E S T
T AT IUTaE ¥ AT T8 e
TR ? |

24, HGP % 3o Te@ wa e § a9 s

C) siufemfem  wuffest
D) 7 K-

L]

iy

T T |
T Gk

B) w=if@r

ot

A) p- TeEIfaeT

B) foide addemaw
C) Wi TRy

D) @R g

I i & {

25. e o, iy dises aRre i TR gy

[ Page No.
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e foma T @ 4

A) SEiEET e

B) HeRTuT

C) viefeset wom

D) F: e S i fif |
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26. Match the following :

Column i Column It
a. Gause p. Resource
partitioning
b. Connell q. Exclusion
: principle

c. Mac Arthur r. Competitive
release

d. Verhaust-Pear! s. Logistic growth
curve

A) a-q, b-p, c-s,d-r
B) a-r,b-p, c-s,d-q
C) a-q,b-r,c-p,d-s
D) a-r,b-s,c-q,d-p

27. The Hardy-Weinberg principle explains
that the speciation is due to

A) Morphological changes
B) Chromosomal changes
C) Gene frequency changes

D} Acquired characters

28. Multiple alleles are characterized by

A) more than two alternate forms of
genes found at different loci

B) more than two alternate forms of
genes found on same foci

C) one gene occurs in two
chromosomes

D) none of these

26. T Hh T :
| w il
a. MRE p. GareH faamee
b. HAE q. sReRT fagia
c. W M r, giorae fefte
d. FEisE-ud s. UG glE FH

A) a-g,b-p, c-s, d-r

B) a-r,b-p,c-s,d-q

C) a-q,b-r,c-p,d-s

D) a-r, b-s,c-q, d-p

27. wei-dent fgia aram @ 5 Swfemo
Toe ¢
A) FTUTCH saaid
B) ' SHIASIHTCHS g

C) s ngfer sgaE
D) tftara aui

28, wgwPTt TfRTe & TEVT $9 THR Ta W
A3
A) faftm <ieht # T SRe & @ il

A SR

B) T € SR #f wig whae A & arftws
IiAH S

C) W <fi 3 S § Yo
D) TH & =i 7

>
——
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29. Which of the following is a mis-matching
pair of the disease and medicine ?

A} Emphysema - l-antitrypsin
B) Cancer — Alpha interferon
C) Blood clot — Streptokinase

D) AIDS - Penicillin

30. Identify the right pair of the extinct animal
with their country.

Animal Country

A) Dodo | Russia
_ B} Thylacine Australia
C) Quagga Mauritius

D) Stellar Sea Cow Africa

31. Which of the following is not a sexually
transmitted disease ?

A) Acquired immune deficiency
syndrome

B) Trichomiasis
C) Syphilis

D) Tetanus

(L

20, F A A I A AR TR 7
A) Sraehifa — | g
B) IR — eH T2
C) T =1 ueht — R
D) AIDS — 3=

30. fargea PRy e 3 it ot W R A

wfor m
A) 3= Lo
B) wngeTTRA e
C) = WiREE

D) Reek W3 T FTMShT

31. 37 @ A Sffes qmr7ET & 7
A) TS T Refefde fgm
B) s |
C) faftsim
D) =ra

>
e

Page No. 12

L2
(3]
0O
m
v i)




AR

in the womb of the mother the first heart
sound of the foetus can be heard by
Stethoscope at

A) First month of pregnancy:
B) Third month of pregnancy
C): Fifth month of pregnancy

D). Sixth month of pregnancy

. Read the statements and identify the
- right option.

Statement|: Miid foetal ejection
reflex is induced by
2 placenta.

Statement Ii: Foetal ejection reflex
triggers the release of
oxytocin from the
ovary.

A) Statement | and Il are correct
B) Statement| and Il are incorrect

C) Statement | is correct and li is
incorrect

D) Statement | is incorrect and Il is
correct :

30, 7 % mf # YU F TEA N UEEA AT
QYT F G o a1 @ 7

A) Tiifereen % eR WEH A
B) mwiaea ¥ el 7E
C) mwteren & qfed WA &

D) mieRer ¥ B 7

33, et @ T, et fen =

Tl T Y01 SO i 6l
e gr S e st 81

w3 S SO N e
A AR A e w1 fm
Cacid

A) T | e 11§t R
B) = | 9T || 7T @
C) e | W, T || Mo

D) e | TeT, o 1| T R

——
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34. Identify the incorrect statemerit
pertaining to contraceptives from the

following.

A) Most widely accepted methods of
contraception in India is Intra
uterine devices .

B) Surgical intervention blocks
gamete transport and thereby
prevent conception

C) Pills inhibit ovulation and
implantation as well as alter the
quality of cervical hucus and

retard the entry of sperms

D) IUDs are useful only before the -

coitus

35. The regression co-efficient for

[T H

34. Frefifaw § & mifdus g 397 g sm
Temd ? |
A) IR TIREETE 39T IR &
TR % dR W s 'Y @

ST 7T &

B) it aur mfumo #t 43 & g
Tl IR BEAaT HTEE F 2

C) it fsicasiy ot smiww 3 Tm-
|re e i % serT ) Ew R
e o N Rl F e R i R

D) luomﬁﬁﬁm@m%

35, %ﬁﬂmﬁq’i%mﬁa‘aﬁwmﬁﬁm

iErt % g i wponi 2
frugivorous birds in tropical forests of fere
different continents is A) 0.1
A) 0.1 B) 1.5
B) 1.5
C) 1.15
C) 1.15
D) 1.75
D) 1.75
A [Page No. 14] 5CEB




36. Diversity of which of the following given

groups ‘are maximum ?
A) Fishes
B) Algae
C) Fungi

D) Amphibians

37. The oceanic carbon reservoir constitutes
A) 49%
B) 71%
C) 50%

D) 79%

38. More recombinants types are formed

when

A) the genes are located very near to

another on chromosome

B) the genes located far away from

one another on chromosome
C) the crossing over is very less

D) the génes are located only on

Y-chromosome

36. Freffas # & frg wqg i R
Tl & 7

A) Ag
B) Yar=
C) &a=%

D) WIS

37. G AR ARG T ___ TS F@I ¢ |
A) 49%
B) 71%
C) 50%

D) 79%

38. 3T Y- TGeTH YR &I ©
A) iR T 8 T g S F09 e R
B) s i ¥ wh g A T R
C) FRM AN FITNE
D) S Y- # flra g @

A [Page No. 15
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39, identifythe correct combination showing

the blood group with their respective
antigens (sugar), antibody genotype
and special character.

Blood Antigen Antibody Genotype Special

Group present/ Character
Sugar
A) A B b A8 Most
common
type
B) B A a 118 Found only
in India

C) AB AorB none A8 Co
dominance

D) O Netther Botha 1919 Universal
AnorB andb donor
40. It_ientify the mis-matched one.
A) CUU - Leucine
B) GGU - Glycine
C) GCU - Alanine
D) GAA - Valine
41. Which of the following is not an example
for degenerate codon ?
A) Leucine
B) Alanine
C) Tryptophan
D) Glycine

AR

39. T WE A I HARa NioeH, wWaid

sferRy i frdy wfa & @y Rew s
A T Y g 5 |

W whem W@eid frere R

g /v wfam

A A B b AE gl

a =

YR

B) B A a BB et wra

 Rreramen

C) AB AorB ®RE T8 |AIB wmivafear

D) O Asfiv®  a P10 arhifirs

Bsfiv@t a9Tb grar

40. 57 A I R T |
A) CUU - Leucine
B) GGU - Glycine
C) GCU - Alanine
D) GAA - Valine

41. T 4 B T i TR ¥ R s
TR 7
A) I
B) weE
C) feimm
D) vemsfim

Page No.
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42. Which of the following is not a
characteristic of Drosophila
melanogaster ?

A) They are dioecious flies

B} The genes studied by Morgan
found on different chromosomes

C) They show many types of heredity
variations

D) They.complete their life cycle in
about two weeks

43. Read the statements and identify the
right option :

Statement|: Due to continental drift
pouched mammals of
Australia survived.

Statement Il : South America joined
North America due to
continental drift.

A) Statement |.and |l are correct
B) Statement ! andl are incorrect

C) Statement lis co}rect andllis
incorrect

D) Statement | is incorrect and |l is
correct

42, 38 BB W FITHEAT TR B
e TE 8 7

A) 9 sElifera wiReaal §

B) A B0 oA TRy T S et
T B § 7T T §

C) 3 ATIETeRaT 3 U I SuIdT &
D) SN & g1 W & 9 e T B
T FQ §
43. FYAT I TGt T8l e 99 |

Fiferied f§¥ & FOT
attesforn & fiem gem
T 9 M |

wUA | :

wHe Nl : gféror ImifRT, I RfER

¥ |1y it TR F
FIT T |

A) F2 | Il g
B) %W | wu il Ed
C) F¢[ | F&t 9o e i Tievd

D) %94 | Toa ag1 e || wEl

>
—

Page No. 17

| —

5CEB




44. |dentify the mis-matched one.

A) Australopithecus — hunted with
stone weapons

B) Homo habilis ~brain capacity 650 cc
C) Homo erectus — ate meat

D) Modem man arose — 10 thousand
years back

45. Which of the following contains only

bacterial disease ?

A) Choléra. Typhoid, Pneumonia
B) Malaria, AIDS, Choler_a

C) Typhoid, Tuberculosis, influenza

D) Diabetes, Malaria, Syphilis

‘TR G
44, SH H YFAAT |
A) ITEETIRERT —d9eer % eRER & vors
a:" L

B) Bt wfeifera — witess = amved 650 o
C) it ey — wig @ §
D) YR MG T — o S 6T et

45. T8 & 0 fird saien AR @ 7
A) HIEW, TREES, Ff
B) @i, Tew, S0

C) THHRE, JaFeiied, TR
D) efardiw, waitan, fufsRm

46. Select the correct statement. 46. |E T B G |
A) Acetobacter aciti produce citric A) TR T st s
acid AT 2
B) ;o‘sac:;:ct:tabrzgtlyt:es cerevisiae is used B) e SRR =1 3w
e
: T F ¥ H g W @
C) Penicillium notatum restricts the
growth of staphylococci C) uffirierm ieem Rt R 3fy
i Yttt s
D) Methenogens are found in aerobic
conditions D) ¥ QUf e & wre o
A [Page No. 1q 5CEB
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47. Read the statements and identify the 47. F9 % Ye R TE Fveq T |

right option.

Statement |: Human liverfluke
depends on two
intermediate hosts they
are snail and fish.

Statement Il : The life cycle of

Endoparasites are very -

simple because of their
extreme specialization.

" A} Statement | and Il are correct

B) Statement | and Il are incorrect

*

C) Statement | is correct and Il is
incorrect

-

D) Statement | is incorrect and Il is
correct

48. In the DNA fnolecule

A} the proportion of adenine in relation

to thymine varies with the organism

B) there are two strands which run
antiparallel one in §' — 3'.direction
and other in 3 — &' direction

C) the total amount of purine
nucleotides and pyrimidine
nucleotides is not always equal

D) there are two strands which run
parallel in the 5 -3 direction

el #ﬂama@uauwﬂﬁtﬁm
i sl ToEm W @R €

HUA | ; I 9 ROegar & s
USORIEeH & Sfied <% 5ga ol
WAE |

A) FUT | 7 1]
B) &9 |91 11 TeTd
C) %94 | s, 17T

D) & | e, | &=t

48. DNA =101 &

A) 907 % gey § A w1 ogua sta &
[T SEl T

B) & fre € &Y 5 —» & #i fewn F ofk
3 3 — 5 R e de a8

C) =i ey i e
IfFaaeReE T AE g eE
BRG]

D) < frt € st 5'->-3'ﬁmﬁmrr-lﬁat
d5d &
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49. Which one of the following is wrongly
matched ?

A) Transcription — Writing information
~ from DNA to tRNA

B) Translation — Using information in
mRANA to make protein

C) Repressor protein — Binds to
operator to stop enzyme synthesis

D) Operon - Structural genes,
operator and regulator

. 50. Select the incorrect statement.

A) Hybrid seeds must be produced
every year to obtain maximum
advantages of heterosis

B) Heterosis is lost by inbreeding

C) Apure-line is the progeny of a large
number of heterozygous self
pollinated plants

D) Genetic diversity is being or is
likely to be used
improvement of domesticated

in the

plants

49, FH AW WA & ?

A) gfterET — DNA® tRNA T gaeii =t
fra

B) AT ~ mANA & g=a1all @1 39
T WA T

C) Hehdl SIEH —USTEH HYCTSUT i U
& foTu STTRER =t e

D) 3R — GEAeRR S, STt 3R
s

50. T Q TETd FEH G |

A)%%ﬂﬁammmmﬁ%
o &t o gt st = Ieared fn
ST =IET

B) TR Tenfa s 510 TR & @I #

| C) TF VG O U o ey
1 U ) Teal H G '

D) st faRreran an qrerg it 3 guw
F IwAT B Al A9E 2

>
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